


For more help visit our website https://www.exampaperspractice.co.uk/

https://www.exampaperspractice.co.uk/


For more help visit our website https://www.exampaperspractice.co.uk/

https://www.exampaperspractice.co.uk/


Figure 2 shows the students’ results.

Figure 2
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(e)  A hormone stimulates growth in shoots.

Which distribution of the hormone would cause the results seen in shoot D?

Tick one box.
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Apparatus B is a control.

Apparatus B rotates slowly.

(b)  How does apparatus B act as a control?

___________________________________________________________________

___________________________________________________________________

(1)
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The table below shows the students’ results.

(c)  One student stated:

‘The mean length change for the seedlings in apparatus B is not valid.’

Suggest the reason for the student’s statement.

___________________________________________________________________

___________________________________________________________________

(1)

(d)  Suggest one improvement the students could make to obtain a more valid

mean length change for the seedlings in apparatus B.

For more help visit our website https://www.exampaperspractice.co.uk/

https://www.exampaperspractice.co.uk/


__________________________________________________________________

___________________________________________________________________

(1)

(e)  Figure 2 shows the students’ drawings of two seedlings at the end of the 2 days.
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(f)  In horticulture plant hormones are used for controlling plant growth.

Draw one line from each plant hormone to the correct use of that hormone.
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(a) Draw a ring around the correct answer to complete each sentence.
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(b) Shoot A bent towards the light as it grew.

Explain how.

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

(4)

(c) What conclusions can be drawn from the results about:

(i) the detection of the light stimulus

______________________________________________________________

______________________________________________________________

(1)

(ii) where in the shoot the response to the light takes place.

______________________________________________________________

______________________________________________________________

(1)

(Total 8 marks)
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(iii) Why did the gardener put 0 arbitrary units of weed killer on one area of the lawn?

______________________________________________________________

______________________________________________________________

(1)

(iv) The gardener concluded that the best concentration of weed killer to use all over a

lawn is 100 arbitrary units.

Suggest why the gardener cannot be sure about this conclusion.

______________________________________________________________

______________________________________________________________

(1)

(b) In this question you will be assessed on using good English, organising

information clearly and using specialist terms where appropriate.

Plants respond to different environmental factors.

Describe how different environmental factors affect:

• the direction of growth of roots

• the direction of growth of shoots.

In your answer you should refer to the role of plant hormones.
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Do not refer to the artificial use of plant hormones by gardeners or scientists.

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

(6)

(Total 10 marks)
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